10.

12.

14.

TEST XXIX PREMODEL 1l

(ECONOMICS, GEOGRAPHY, POLITY, APTITUDE AND MENTAL ABILITY, THIRUKURAL &

GENERAL ENGLISH)

Which of the following is one of the method to monitor purchasing power?

a. Wholesale Price Index b. Producer Price Index

c. Consumer Price Index d. Industrial Production Index

e. Answer not known

LedTeu(heuasiouBmIel 61hd Q6N UTRIGD FHHMWS HeNIHTeNNLILSBSTE (LPeHB?

a. QursHsalBumer aleme GPHUILG eemr  b. o Budhdwrery alemed @GUIUTG eTewr
C. BI&TGuTT alleney GMIUILB  6r6uT d. QamfBareney o Bushd @GBuil (b ereu
e. alewL GaMwalsdenso

Which of the following statements about Globalization is/are correct?

i. Opening exclusive public sector enterprises to private sector.

ii. Integration of the domestic economy with the rest of the world.

iii. Opening the doors to FDI and FPI.

a. i, ii, iii b. ii, iii c. i, iii

d. i, ii e. Answer not known

Lelleu(bld FnBmIBHeNed o 60HWIDTHL UMM Fflwimerenel eleneu?

1. QUTHISSHIMDB HBIURTHIGMET SHEIWTT HWBSHE LOTBILIENLOESH60

ii. o 6MBTLBL CUTHNTHTTSHMSUD gmerl 2 6085 CUTHNMTSTTHMBUD EenerrliLig.

iii. e B Crry (wxHeS® (FDI) wmmid sweonrm G sty (FPI) waseSGasendsmer
SHABMH HMHBH UL

a. i, ii, iii b. ii, iii c.i,iii

d. i, ii e. alewL Oz fuialsdensv

Which of the following organization was setup to negotiate with international firms
and approve FDI in select areas?

a. Competition commission b. FIPB c. Central Board of Direct taxes

d. Ministry of finance e. Answer not known
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Weteumeuaieupplled  CHIhHOHBHSILLL  UGHH6eMed Grrlg  GeuelmpT B (WHeSG  Gauiw
uesTerml_ (B MmleuemisenL el GeuelBTl B (PpHellemL 2adb@GHalbsab gBRUGSHSIULL  Sienoli]?
a. Gum’igd & b. FIPB c. wsHW Grrg eufl eumfluud

d. P& dHaemm e. alewL Oafwealsbenso

17.  Consider the following statements.

Assertion (A): Thoothukudi is known as “Gateway of Tamilnadu”.
Reason (R): Thoothukudi is  the  major chemical producer in
Tamilnadu.

Both (A) and (R) are true and (R) is the correct explanation of (A).

(A) is true but (R) is false.

(A) is false but (R) is true

Both (A) and (R) are true and (R) is not the correct explanation of (A).

e. Answer not known
LTedTeu(hHeueaTauBens  SLJTUIsb.

fan o

Byl (A): BNSHSI5G\) “SUOPBTL 96T BleDL66UTUTIE0” QL]
SIMWPSHBILBHBGH.

agenid (R): SOIDETLIgEr  GeuglloumbLeeT 2 BusHEH  MWDTE  HTHHHGIG
allemhIGHF B

a. (A opmb (R) @rewid &4, Gwabd (R) ereiug (A) alBg Fflumer allendsib.

b. (A) &1, eyemed (R) seumi

c. (A seauml, spemmed (R) &

d. (A) opgw (R) GrewiGd gfl, Goend (R) eemig (A) alBg Fflwmer alendbsld 916060

e. almL Ggflwailsvenso

19.  Consider the following statements.
. In a mixed economy, the fear of nationalization discourages the private
entrepreneurs in their business operation and innovative initiatives.
II. The inequality of capitalism and inefficiency of socialism are found in mixed

economies.
a. I, II are correct b. I is correct c. Il is correct
d. I, II are incorrect e. Answer not known

LeeU(HD SnBmIBmeT SLITUIS.

[. ooty OQurmenmamy Sewwliied CHAWWILTSGHO UBBIw LwWb  GSHLUSTED Sy
Camhled  (pemerGaumydsl  euTemiL  BLAIQHMBHMENMUD LUHBHTHES  (pwuBdleenenubd
F(hH (B ST360T] .

II. woeorelsHausdHar  FoSBHOUOGEDOUID,  FOSHTOSHT  SHBOOUNGTDLOUID BV
QUITHEMTHTTHEH0 STewILILI(HS 63601,

a. I, I &) b. I &1 c. II &1

d. L, IT seum e. alowL O MNuelsvamen
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26.  Choose the correct statements.
i. GDP deflator is an index of price changes of goods and services included in GDP.

ii. GDP deflator = Nominal GDP x 100

Real GDP
a.i, ii b.ionly c.ii only
d. none e. Answer not known

Fflwrer amppleners CHiIbHOHM.

i. GDP @epuurer eaiug GDP  ufled @Bl (beiten  LewiLmiseT BRI el sefler
allemsolomBm  @GHpuil Ol ewr.

uewmtogltiy GDP 5

ii. GDP @gepliumer = 100
o emi ewio GDP
a. i, ii b. i @b C. 1l oL (b
d. gaiievenso e. alowL O MNuwelsvamen
27.  Consider the following statements
Assertion (A): During inflation, debtors are the gainers while the
creditors are losers.
Reason (R): The debtors had borrowed when the purchasing power

of money was high and now repays the loans when the
purchasing power of money is low due to rising prices.

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. (A) is true, but (R) is false

c. (A) is false but (R) is true

d. Both (A) and (R) are true and (R) is not the correct explanation of (A)

e. Answer not known
LeleU(HD SnBBIBemeT SLITUIS.

FBm (A): ueieidsd — STeudhHed  sLeat  QUBCBTT  QIHTWSHMBUID,  HL6T
QRIS GWITT @LplieLIUD (b3 & eTmBenty.
smyenid (R): BL_6oT UTRISWCLIT(S LIGmTLDGLIL | 2 _UITEUTHE|LD UenTaidhd

BTVHHL  HHUF  CFadhsid  CUTWSH LI  (GHMBeUTH
BEHIUSTEL HL 6T UTRISCUITT L SHTUILDENL & 6ITB6IT].

(A) oppb (R) @yemid gfl, Guweid (R) etesiugy (A) ali@ sflwmer alendasid.

(A) &, spemmed (R) seumi

(A) souml, agemed (R) &7

(A) wpmpib (R) @rewid &4, Guwsuid (R) etaiug (A) alBg sflwmer alendsd Siev6v
alenL  Oxflwailsoensv

oo o
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28.

30.

31.

Choose the incorrect statements about Reserve Bank of India.
1. It controls the Fiscal policy of India

11. It commence its operations on 1 july 1935

1i1. The RBI act was enacted in 1934

1v. It was nationalized on 1 January 1949
a.iandii b. iii and iv

d.iand iii e. Answer not known
OhHw flFgel eums uBPiL SmBpBISeTed HeupTaTemel 6Ten6?
1. B3 PpaHs Qsmetmsuienear Geumemiend GFUISBG
. geewev 1, 1935 (WHev QFWEOLIGH GBI

i. @pHw flggel eumad FULD 1934-860 SUBBLILILL Gl
iv. mereufl 1, 1949 @ev CapFwIoWIDTSSLUILIL L FI.

a. i oBmib ii wr Bb b. iii @b iv

d.iwmpnd iii e. alew OaMwalsoensy

c. ii and iii

C. ii @b iii L BLd

Consider the following statements.

I.  Foreign Portfolio Investment is an investment in hedge funds, insurance companies,
pension funds, and mutual funds.

II. FPIis part of capital account of Balance of Payments.

a. ], II are correct b. I is correct c. Il is correct

d. none e. Answer not known

LNeTeU(HLD FnBmISEN6T DLITUIS.

. QeuelpTiB BHi& cpsogend eaiugH LeaFhend LLBEID (WweatCuy Bg Fhandseied b
PpeuamiseT afwrsg QFuwtu@Glh Bg (peogeLD.

II. GouefBTL (B B& cpevgerd euteniLgF CFNISHIF FMHMED (LPVHES SeMbBH 6 QM LGH.

a. I, IT &f b. I &f c. II &)

d. ggifevenev e. alew OaMwaleoenso

Which of the following is correctly matched?

i. Article 112: Annual Financial Statement of Union Government.
ii. Article 116: Definition of money bill.

iii. Article 202: Annual Financial Statement of State Government.
a.i, ii b. i, iii c. ii, iii

d. i, 1i, iii e. Answer not known

Ledteu(heussieuBmlen Fflumsll GQuThhauleneu?

1. algl 112 — wHHw Spdler aumBLIHAT BHFH DBldms.

. algl 116 — venoBFTHTalBaETear Hig DNbms.

iii. @lg 202 — wwmplev WS UBLTHEHT B Dpfbens
a.i, ii b. i, iii

d. 1, ii, iii e. alowL OzMuielsdemev

c. 1i, iii
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34.  Match the following.

A. Gandhian plan 1. S.N. Agarwal
B. People’s plan 2.].P. Narayan
C. Sarvodya plan 3. M.N. Roy
A B C
a 1 2 3
b 2 3 1
c 1 3 2
d 3 1 2
e. Answer not known
CUT(HSHIS.
A. sThHHWSSH LD 1. S.N. &isFeured
B. wdasei HLLID 2. J.P. mmymuiesst
C. spGaundwngd b 3. M.N. gmul
A B C
a 1 2 3
b. 2 3 1
C. 1 3 2
d. 3 1 2
e. alewL Gafwealsenso

35.  Consider the following statements
L. First conference of GATT was held in 1947 (Switzerland).
I1. Uruguay Round is the Final Rounds of GATT (1986 - 1994). It paved way for
setting of WTO.
I1I. The WTO Agreement came into force on March 1, 1995.
IV. At present 188 countries are the members of WTO

a.l, II, III, IV are correct  b. I, III are correct c. I, IT are correct

d. II, IV are correct e. Answer not known

LNeTeU(HLD SnBmISemen LUIH

L. GATT gewiiier (1pHev WIHTH 1947 b WG er0all FJeomhHed Henl CQLIBBSI.

II. GATT- wWieir sl wmprh 2 HGHCu &mm (1986 - 1994) suab. BFHG o 605
ATHHH Wb CHTes aufleudHHI.

.  WTO e_Lauysms menl(pedBda eubd Brem wmfd 1, 1995.

IV.  WTO alled gBGurg 188 mBThHeT 2 mIIefHenTsd © 6T6me.

a. [ IL IIL, IV &1 b. I, III &4 c. L II &

d. I, IV & e. alowL O MNuelsdamen
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36.

39.

41.

The High Yielding Varieties (HYV) used in green revolution were

1. Rice 2. Wheat 3. Maize 4. Jowar
Which is correct?
a. 1,2 b.1,2,3 c1,2,3,4 d1,24 e. Answer not known

ugiemo Ll duled o1 alenen&dsd SH(HD JHMIB6NT 61860 LWTLBGHSUILLL HI?

1. o4 2. Garglenip 3. W&HTEFGFTNLD 4. @amenid
FflwrereuBenpd CHiIbOHBHSD.
a.1,2 b.1,2,3 c1,2,3,4 d1,2,4 e. alewL O MNuwalsvamen

Consider the following statements

The north-south extent of India is 2933 Km

The east-west extension is 3214 Km

Sikkim is the smallest state (Area wise)

Rajasthan is the largest state (Area wise)

India’s central meridian is 82°30" E longitude it passes through Mirzapur, Uttar
Pradesh

a. 3,4, 5 are correct

d. 1, 3, 5 are correct
Leeu(bD FnBBIBenen LIS
1. @bgHwr 2933 FHib auLd@ CsBE euemy uFaiujeTengl

G P

b. 1, 2, 3 are incorrect c. 1, 2, 3 are correct

e. Answer not known

2. @bHwr 3214 S5 eueny HpsG — CuBaEts ugaiuleTengi.

3. e @phgHwuneier WaFdpw wrmeod (UFliueTaileLIg)

4. grgervgrer @pbgHumaile WslGLfluw wmpeod (LpliLenaleg)

5. @bHuneler wHHW  SiHHCrems  eaiug  82°30° Hwsd. B o SANIBHFHH6e0
WsmyJ eublwns QFe0&IBg.

a. 34,5 g b. 1,23 seum c. 123 &l

d. 13,5 e. alowL O MNuwelsdamen

Assertion (A): All rivers originating from the Himalayas are perennial

Reason (R): Himalayas receive much of their percipitation from south

-western monsoon
a. Both A and R are true and R is the correct explanation of A
b. Both A and R are true and R is not the correct explanation of A
c. Ais true but R is false
d. A is false but R is true
e. Answer not known

BB (A): Buuwmeoulsd o (HUTGD SLBIHET DMTHHID UBBTSH  SeUbHHeNTHS
& BLDF TTB6IT.

as1yewid (R): @owioenso  GupbLmeuTer  emipll  QuTenal  OHTGMBE LIHeUSHH T  cLpevLD
QUBISBSI.
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[APP& Ln |
a. (A) oppid (R) @yewiGo Ffl, Cwed (R) eeiug (A) alB@ gflwmer eflendasid

b (A) wBmib (R) Byewiio &f, Gwaibd (R) eeug (A) alBg sflwmer alendsiosven

c. (A gf, spemed (R) seumi

d. (A) seaup spemed (R) &l

e. alemL Gafwealsdenso

42.  The western part of the central Highland is .

a. Bundelkhand b. Bagelkhand c. Chhota - Nagpur Plateau
d. Malwa Plateau e. Answer not known

wHHW o wpeoliugaHulear CuB@l ugsh .

a. LIGWIL6D &HeuoTL b. uT®ed St c. GamliLm mréyy LLyld
d. wrereut 1Sy e. alew OaMuweaisoensv

43.  Consider the following

L Normal lapse rate: Temperature decreases at the rate of 65°C for every 1000
meters

II. Weather refers to the state of atmosphere of a place at a given point of time.

III.  The word ‘“monsoon’ is derived from the Arabic word ‘mausim’ which means
‘season’.

IV.  Sahara desert is the driest place on the earth.

a. L, II, III, IV are correct  b. I, III, IV are correct c. I, IT are correct

d. II, III are correct e. Answer not known

LNeiTeU(hHLD FnBmISHemeT LUIH

L. Auwieoy Oeulit elpFdl : yelugiledmba o wly GFe0606IFe060  aUATILDERIL 608560
@alGeuTp 100015 o wsABE&GL 65°C GeulILBemeD (&6emBeUsi.

II. ATeleney  6lelgl @(h GBUULILL B HFHe0 2 6Ten  aUaTDeRIL 0HH T  HETEMLOEMUIS
GSBIUUSTGLD.

I1I. “ote@er’  aaBoFTey  “Oendd” e oy  CFTebedled(hhal CUBLILLL &I &g

QUIT(HET  LI(HeUSBTEVLD.
IV. Fammyml uTeneveued LBluNGeBul eumemiL LGS WMEGLD.
a. L IL IIL, IV & b. L, IIL, IV & c. L II &
d. II, III &/ e. alowL O MNuealsvamen

44.  Which of the following soil is very rich in humus?
a. Laterite soil b. Alluvial soil c. Black soil
d. Mountain soil e. Answer not known
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LNeTeuU(HLD 6T[hH LDEUTenTle0 DIHBLIOTET EDeM6eVIDDHE FHHIHH6IT 2 6iTenen?
b. euewiL60 LoeuwT C. 560 LDGwT
e. alemL Oaflwaledenso

a. SJen6I  LDGIT
d. wemevLDEwT

51.  Which of the following statements about alluvial soil is/are correct?

1. Rich in nitrogen
2. Poor in Potash

3. Distribution: Ganga and Brahmaputra river valleys.
4. Crops growing : Rice, wheat, sugarcane, oilseeds.
b.1,2,3 are correct c. Only 1,2 are correct

e. Answer not known
auewtLeuwoewt LMK LleiTeuhd FnBpicseled elemeu Fifluimereneu?

a.1,2,3,4 are correct
d. Only 3,4 are correct

DBLILRE FHHI DFBID.

12,34 &f
. 34 @B Fif

O AR

55.  Match the following
Name of Industry
A. TISCO
B. IISCO
C. Salem Steel Company

QumlLTfud 5% WS Genmey.
LJeUed : Smiend LoBBID LIJbUSHIT BBIL LISTeNSHTES6N.

auen(hD LUlgHel : OBed, CHTHIMD, SH(HLOL|, 6T6eRIOWIUI 6lSHSHISHDHET.
b. 1,23 &

c. 1,2 @B &f

e. alewL Gaflwealsvenso

Establishment Year
1.1982
2.1972
3.1923

d. Visweshwaraya Iron Steel Company 4. 1911

A B C
a. 1 2 3
b. 2 1 4
C. 4 1 2
d. 4 2 1
e. Answer not known
QUT(HSHBHIH
CamPBaTensoUNe GILILIT
A. TISCO
B. IISCO

C. Ggoud 61..@ L6V

D

W W W s

Sbe1(H

1.1982
2.1972
3.1923

D. aflerdGeusrdeuguiim EmdL 61." & HBIeenTD 4.1911

A B C
a. 1 2 3
b. 2 1 4
C. 4 1 2
d. 4 2 1

W W Wk g
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58.  Match the following
Railway Zone
A. Eastern Railway
B. East Coast Railway
C. Central Railway
D. East-Central Railway

A B C
a 2 1 3
b. 2 3 4
c. 2 4 3
d 2 4 1
e. Answer not known
QUT(HSHHIS
LDGITL_6VLD

A. Hwpsg ByuledGel

B. dwse s Bsr yulsdGe

C. wgsgaw @ruievGeu

D. duwsg wiHHwu BrulsdGeu

A B C
a 2 1 3
b. 2 3 4
c. 2 4 3
d. 2 4 1
e. alewL Gafuweaisvenso

59.  Match the following
National Waterways
A.NW1
B. NW2
C.NW3
D. NW5

A
1
1
2

R R NN
NSNS

2

a
b.
C.
d
e. Answer not known

Headquarter

1. Hazipur

2. Kolkata

3. Mumbai

4. Bhubaneswar

WR =g

SemeventouilL_Lb
1. emdlyJ

2. &H60BSHHIT
3. (WpLbemL

4. UeuBeoterdeuiy

WR =g

Place

1. Sadiya to Dhubri

2. Allahabad to Haldia

3. Talcher to Dharma

4. Kollam to Kottapuram

Wk W g
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QUT(HSH SIS

Cxpdlw miyeud B b

A. NW1 1. gmouimelleV(bpbal SILifleueny

B. NW2 2. SIVBTUTSHHN([HHSH aBTeOHWLIT

C.NW3 3. srevaflulledbbal STbym

D. NW5 4. Qamevsuled(hbaH G LD
A B C D

a 1 2 3 4

b. 1 2 4 3

C. 2 1 3 4

d. 2 1 4 3

e. alemL Gafwealsdenso

68.  Which is not the erosional landforms of waves.
a. Sea Cave, Sea Arch b. Seas tuck, Seas Cliff c. Bar and Spit
d. Wave cut platforms e. Answer not known
SImev  YfliSH6e0Te0 2 (HaUTHSILGBLD HevsCHTHBBID BeveoTHHI?
a. BL6D GMB, HLEL 6UM6I6Y b. &Le0gment, &L 60e)IBIHET
C. LOGUTGLAHI_ (B, MH6wIL  LoewTeL S (B d. 9men oIMGwenL
e. alewL Gaflwealsvenso

69.  Match the following

Name of the cyclone Year

A.JAL 1. 2010

B. THANE 2.2011

C.NILAM 3.2012

D. MADI 4.2013
A B C D

a 1 2 3 4

b 1 2 4 3

C 4 3 2 1

d 4 3 1 2

e. Answer not known

CUIT(HSHHI:

ywede&t GuuiTaselt SLEWIBH6IT

A. m 1. 2010

B. snGer 2.2011

C. Beud 3.2012

D. g 4.2013
A B C D

a. 1 2 3 4
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b. 1 2 4 3
C. 4 3 2 1
d. 4 3 1 2
e. alemL Gafwealsdenso

76.  Dumbhal is dance form of
a. Assam b. Arunachal Pradesh c. Uttar Pradesh
d. Jammu and Kashmir e. Answer not known
SHIDTEL 613 6Uemd BT luid Gameisiul  LommBleod
a. SlereNITLD b. simewmFFelINg8sHF1D c. 2 SAigBsaib
d. ;bap wBpd sTedsT e el OFHfwelsvemneo

77.  India was described as Land of “unity and diversity” by whom and where
a. Rabindranath Tagore in Gitanjali
b. Mahatma Gandhi in ‘My Experiments with Truth’
c. Jawaharlal Nehru in ‘Discovery of India’
d. Subash Chandra Bose in “An Indian Pilgrim’
e. Answer not known
AbHwr "CouBmIentouled @BBIMID HTEWID BTH 6160 61HIG WTFTeL 6uU(hHewllbalILL L &7
a. geibaIBTH STaT HOH SHHTEhFevlulsd
b. warHor &MHH FHH "FHAW BFTHmEUIED
C. :MausmTeomed Chh HFH “gerodeuflent pt Aewriguwim @iled
d. surey FhHIGUTed Hwgk "ok BHHW yalsl uuwlewd”
e. alemL G flwailsvenso

78.  Consider statements regarding National Flag.
1. Length and width are in Proportion 3:2
2. First national flag was designed by Tirupur Kumaran.
3. First Indian flag was woven in Gudiyatham, Vellore
4. Karnataka Khadi Gramodyoga Samyukta Sanga, Hubli is only licensed flag
Production unit in country.
5. flag was adopted on 22 July 1947.
a. All the above b.1,2 and 3 only c.1,2,3 and 4 only
d.1, 3,4 and 5 only e. Answer not known
BgH CaHAsbsmys@l QUTHSSTEIIBmB, SLPdaaILaBpleT CHThOHHHED
1. Bem &BeD - 3:2 6B aldlsHbd
2. o0 BpFws OBmg SIHULT GLIEIT6D 6UIQEIMLOSSLILIL L Gl
3. WL @hHWS &My GuThsd (CeusurT) &0 GBF6) GEUIWIILL L G
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4. Qamg 22.07.1947 oip SMISHTNSSILLL S
a. SEaHHID Filwraema b. 1, 2 wBpid 3 c. 1, 2, 3 wpmn 4
d. 1, 3, 4 wBBIDd 5 e. alewL Oafuwealsdensv

82.  Match the following with correct options

A. Gram Sabha 1. Municipal Commissioner
B. Panchayat Union 2. Executive officer
C. Town Panchayat 3. Block development officer

D. City Municipal Corporation 4. Permanent body

A B C D

a. 4 2 3 1
b. 4 3 2 1
C. 2 3 4 1
d 3 2 4 1
e. Answer not known
QUT(HSHHIH:
A. Aymo Fenu 1. (wefdlued &yememTuliT
B. uehsmwigHa wyefuies 2. QFwed oF S
C. p&J UEhsTWLSHR 3. Uenmms euenii&d (eulLmy oigleml)
D. pay weidusd srmiuCreagesr 4. BIhsr SewLOUL
A B C D
a. 4 2 3 1
b. 4 3 2 1
C 2 3 4 1
d 3 2 4 1

e. alewL Gafweaisvenso

83.  Consider statement regarding function of Tamilnadu Governor

[. acts as the chancellor of universities

II. Promulgate ordinance when both houses are not in session.

III. impose financial emergency under Article 360

IV. appoints advocate general, chairman and members of state public service
commission.

a. I, II, and III only b.L II, IIT and IV c LIL IV

d. III, IV e. Answer not known

SLEHHTeT QFweOLTHH6T GBiHSH Lleeumbd QFuigselsy, FflwmaaumBenss GBIULIGHS.

L. LIVBeMeVE HLpBmIB6Mer Goubarmes OlFweoLIBeuT

IL. Bm SmausEhDd QFWEOULTHBUTSH, SleusydFsl L LIpliileaaseorid

III. B& FUbSILULL SeusFy Heneol sl aihma FLLdnml 360 S SfaldseuriD.

IV. OuTEhl  UPSHGHMMBEhT,  mHlev  UemiwmenT  Caeyds  GHUH  HMevaUT  LOBEBID

o mlilenTaemen HUuIdl&aseomd
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84.

86.

87.

b. L IL III wpp IV
e. alemL Oaflwaledenso

a. L, IT wmpnb 111 c. I IV

d. IIL IV

Qualification of high court Judge can be

1. Must be a citizen of India

2. Must have 10 year experience in head of Judicial office in territory of India.
3. Must has 10 year experience as advocate in one or more High Court.

4. or an eminent Jurist in opinion of President
a.1and 4 only b. 2 and 4 only

d. All the above e. Answer not known
o WTHAHISB HHUSUIET HSHHWTS 6Ten6USHBHLILIB S B60T?
1. @bHws GYLHaTs QHbd Geuewi(HLD
2. @hPw [/ BESBOB  Sleaessslh
Bouemt(HLd.

3. @am / @aEmesd GoBullL o wihd  aEBRIGaNsd  USSBIOHLBISET  aUDSHSHNEhTTE
ueniyfibs Sienitieud Geueust(BLd

4. BRWISHS SHMeVUTTeL &F Fmbhs HHSHIMB BT a3 sTaim CuBNihes Gouewi(BLb.
a.1&4 wl@w b.2&4 c.1,2, &3 w 6w

d. Boea Simarsaib e. alewL Oafwealsbenev

c.1,2 and 3 only

10 SewihEeT  Hemevewloll LS  uBHHHDHD

Statement 1: Indian council act 1892 introduced the concept of indirect election for the
first time.

Statement 2: Direct elections was held for first time in 1920 under British India as per
Montague Chelmsford Reforms Act.

Correct statement is

a. One only b. two only

d. None of the above e. Answer not known
Fgmupl 1 D (PSS (PFHVIL mBWESH BHTHe0 (penmulimendl 1892 @bHW SHeaTdle0sel
FLLID ewpeold SIBI(WSILGSHSLILILL .

Byl 2 Wi gad BbFHwimaied LoTewTCL & OF ero@uImT(H
FTPmSSmIB6T FLULID cpeold 1920-60 (pHeil (pHeoTd ChIly BHTHe0H6T HemL GLIBMeET.

a.1l w’@Gw b.2 w’ (G c.1 wBpb 2

d. gsefeveney e. alowL O MNuealsvamen

c. Both one and two

Consider following statement, choose correct answer from codes given below.
Assertion (A): Leader of opposition plays a significant role to play in Indian
Parliamentary System.
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STUCDHYESI\I‘EZITRE
Reasoning (R): He is Chairman of Public Accounts Committee, selects
Chairman of Central Vigilance Commission, Information Commission.

a. (A) alone is correct and (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A).

c. (A) and (R) are in correct

d. (A) and (R) are correct but (R) is not correct explanation.

e. Answer not known

LNGT6U(HLD SnBmISEmeNd & (HSHIH:

sabm (A) Bhawi LITJT@hLOGH (LpemBuled sl & BENEOGT
uSIWTeTg (WHHWLILIRIG IS HH B

sryenid (R) @ et QuTgis sands@d GUaleT HmevauITead WHHU alfilil] SLEnETULILD
LBBID WHHU HHEUD DLENETULSHET HenevalTHamensd BGHTey GFUILITHOD © 6ITeNTi.

a. (A) wiew af, R) seupl

b. (A) wBpd (R) #f womd (R) eewug (A) & sflwmer alendasom@Ld

c. (A) wppid (R) seupl

d. (A) wBpw (R) af euemesd (R) ereiug gflwrer allensasosen

e. alewL Gafwealsvenso

89.  Consider the following statements.
Statement 1: Meaning of Franchise denotes right to elect.
Statement 2 : Universal adult franchise creates legal equality.
Choose wrong statements.

a. One only b. Two only c. Both One and Two
d. None of the above e. Answer not known

LNeT6U(HLD FnBmISmeNS SH([HBID.

Fmmml 1 : autd@Mlewn areiilgh GHitey QFUILILGBLD o Memwenuwlds GHBEHBSI.
FgBml 2 : auwgl aupBaHTT aundGflend FlL FIDSSHUSHMSH 2 (HaUTHGHIBSI
SHUBTET SmBpIBMend CHiTs.

a. 1 (B b. 2 w Gb c. 1 oBmid 2 @yewi®
d. agleevenso e. alowL O fNuelsvensv

91.  Choose the correct following statements regarding Fundamental Duties.
1. They were incorporated under 44t constitutional Amendment Act.
2. They were based on provisions of Verma Committee recommendation.
3. Original constitution had 10 Fundamental Duties.
4. Latest duty to provide opportunity for education to child or ward was added by 86t
constitutional Amendment 2002.
a.1land 2 only b.1,2 and 3 only c. 3 and 4 only

d. 4 only e. Answer not known

SlglIenL & SHLemDH6NT CGHTLTUTeT FAWTET SnBBIHm6T SHT6wH

1. @6 4461z SIFFWeuolIld HHHHF FULID cpeold EenetdaLILIL L 6.
2. aumor @uweler UMBHIDILLIQUITET SnplSemend 6HTERIL 66

3. epev Fweoenolimerdl 10 SIQUIIML & HLMIDDHM6NSH CBTEmNQ(HbSHH!.
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4. 86 euml SpFwevenioliydh  HmBHSHD  2002-681 LY  GWHOSBEHHEG — Hevalwleld@Lb
SLMDWTRIH LHBHTH BenemntdbdLlILL L HTGHLID

a.1l wBmid 2 w @b b.1,2 w@mid 3w G c.3 wBp 4 W G

d.4 @G e. alewL Oz fuwealsdensv

93.  Match the following committee and recommendation
A. Balwant Rai Mehta (1957) 1. 3 tier panchayat raj

B. Ashok Mehta (1977) 2. concept of “grass without roots’
C. GVK Rao (1985) 3. 73vd and 74th constitutional Amendment Act.
D. LM Singhvi (1986) 4. 2 tier Panchayat and involvement of political parties
A B C D
a 1 2 3 4
b. 1 3 2 4
C. 1 4 2 3
d 1 4 3 2
e. Answer not known
CUT(HSSHIB:
A. veveupgymul Gug st (1957) 1. 3 9Ib&E UehdTUISSH TTeR
B. ©6sns Guwsst (1977) 2. “Cougmm UBB6T (LpenB
C. GVK gmeur (1985) 3.73 wBmIb 74eus SFFHwevdDILS HHHHF FLU L BIS6IT
D. eev.e1d. dmal (1986) 4. 2 9IBs& UhHFTWSHS (10) SPdfwed & Hserie
umIGasmL
A B C D
a. 1 2 3 4
b. 1 3 2 4
C 1 4 2 3
d 1 4 1 2

e. alemL G fwalsbenso

94.  Only local government that can levy taxer under 3 tier panchayat.

a. village panchayat b. zila parishad c. panchayat samiti

d. Anchal samiti e. Answer not known

WIBBHSG UehFTWHSH (wepulet &S wLBO  aufl  aHEGD  HBTTHMBL!
QUBBIGTETS).

a. Hgmp  eanym &) b. 29eveur uflags C. UehFTWSHS F10)

d. oehFed F108 e. alowL O MNuealsvamen
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101.

105.

106.

Which of the following is not federal feature of Indian constitution?

a. Supremacy of Constitution b. Independent Judiciary

c. Written Constitution d. Integrated Judiciary

e. Answer not known

Uesteumeusioummien @b oFFluievenoliien dnl L Fullel oibgwsbeorsHsl 6157
a. oflwevenoliier o wFsHaemyb b. agpdyore BHdHHemB

C. WL SFFuieventoliL] d. @oBEHommbhs BHHHIMD

e. alemL Oz flwailsvenso

Match following with correct options

Schedule Subject Matter
A.Seventh 1. Division of powers between union & states
B. eighth 2. Disqualification due to defection

C. Ninth 3. Protecting laws violating fundamental rights from Judicial scrutiny
D. Tenth 4. 22 official languages
A B C D
a 1 4 3 2
b 4 1 3 2
C 1 4 2 3
d 4 1 3 2
e. Answer not known
QUT(HSHHIH:
Ol 60 6T6wT QUIT(HETL &&LD
A. greug 1. WHFHW OBBID LOTHEVRIBEHESHTET DIHBTTLILTEUED
B. el 2. a4 wIpeUSHTEL gBUBL SHGHH BHHSHLD
C. gaug 3. pHwem Cargmen LBBID SiglienL. o Menoll LTSHISTLIL
D. uggl 4. 22 oaued GLomPEel
A B C D
a. 1 4 3 2
b. 4 1 3 2
C 1 4 2 3
d 4 1 3 2

e. alemL O flwalsvenso

Match following with correct options.

Article Provision

A.77 1. Grant pardon, reprive, respite

B. 53(2) 2. Privilages of president

C.72 3. All executive action of union taken in name of president
D. 361(1) 4. Supreme command of defence force of union
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107.

108.

A B C D
a 2 3 4 1
b 3 4 1 2
C 4 1 2 3
d 1 2 3 4
e. Answer not known
QUT(HSHBIH:
FLL gl Qum(menL&aLd
A.77 1. QuTEl WSS, HBILDEIBGHMDBIIL / bbb
B. 53(2) 2. ®wrgHdh Hemevaufler Ml FelensHei
C.72 4. guurssd somevalT QUMD aBSBLILIGD GFuIOUTHH6T
D. 361(1) 5. wliumLS Heneveu
A B C D
a 2 3 4 1
b. 3 4 1 2
C. 4 1 2 3
d. 1 2 3 4
e. alewL GaMwalsdenso

The vice president can act as president for maximum period of

a. 6 months b. 1 years c. 5 years

d. No time Frame provided e. Answer not known

GRUWITE HIMEWISHHMEVAUT, (GHPUTFHHHENGVMTTE DIHGBLILFID 615HSHMEISHTEVLD  LIGwTWLITHBBeOTLD?
a. 6 WIslD b. 1 eugmLID C. 5 auBLID

d. s1evsE0sdH Bevenev e. alowL O MNuelsdamen

Match following with correct options.

Position Minimum age
A. President 1. 30 Years
B. Vice president 2. 25 years
C. Lok Sabha 3. 35 years
D. Rajya sabha 4. 35 years
A B C D
a. 1 3 2 4
b. 3 1 2 4
C. 3 4 1 2
d. 3 4 2 1
e. Answer not known
CUT(HSHIH:
ugall GOBHS ULF UL
A. QWIS HmevalT 1. 30 euwgl
B. @uurss sienentsHaHemevaui 2. 25 auwgl
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C. Geourds aum 3. 35 euwigl

D. grqwisur 4. 35 auwigl
A B C D

a. 1 3 2 4

b. 3 1 2 4

C 3 4 1 2

d 3 4 2 1

e. alemL Oz flwailsvenso

109.  Which of following is not discretionary power of Governor?
a. Article 201 - Reserve Bill for consideration of president
b. Article 356 - Recommend imposition of president's rule in state
c. Article 167 - seeks information from chief minister relating to administrative and
legislative matters of state.
d. Article 213 - power of Governor to promulgate ordinance
e. Answer not known
SLpaU(HeUTOUBMIET 61FH SLEHHTNST DIHSMT GUTLDLSESH6T U7
a. glLgmm 201 — flgfen wWCFTHT — GHQYUIGSHHEM6VAUT QLILITHIVISHHTIH]
b. FlLgmm 356 — WIHVHHD GLWTGHiSHMevaT Sy Fevwl Aumia QFuleug
c. &lLamm 167 — &SLLID 1OBEID  BTuTHED  OHTLIUTET — HBHEULSHMET  (PH6D
S Csl BUbLBIHeD
d. siLamp 213 — FLLSHMS DIOOUBSHHID DIHSMILD

110.  Chairman and members of state public service commission is appointed and removed
by
a. Governor in both cases
b. President in both case
c. Governor and president respectively
d. Chief Minister and prime minister respectively
e. Answer not known
OMHlev UefiWTenT GUITEHI SLemewnTuldh SHemevalT Blulbed / Bohsd wrgmed Gauiiiu®Gans?
a. SLEBBT
b. ®uursdh HeweveuT
C. SLEBHBIT LOBMID GHYUITEHSHHENE0UT
d. wpxed SiemFst / ysior
e. alemL O flwailsvenso
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112.

116.

118.

[APRe L0)

ERENNAT
Choose correct statements.
Assertion (A): There are limitations on legislative authority of state legislature.
Reason (R): Certain bills on state list can be introduced in state legislature only

with president's approval
a. A is false but R is true
b. A is true but R is false
c. both A and R are true and R is correct reason for A
d. Both A and R are true and R is not correct reason for A
e. Answer not known
Fllwmenr H@eue0HeN6Nd GHMILILIL 6yLd
ampm (A) Mo FULFMUUIST SIFSTID euFbLSEL UL L &l
smpenoid  (R): @il oo wlsrarssel, Gwrssd Hmeveulear ULHGTBSHTET, LOTHe0
FlLgmuuled BlenpGaummLiLI(BLd
a. (A) seaup spemed (R) &l
b. (A) afl auemed (R) seupi
c. (A) wppid (R) sM Gweubd (R), (A) &g sflwrer alendasd
d. (A) wBpw (R) afl eemsd (R), (A)de gflwner alensdsd 16060

State funding of elections was backed by

a. Indrajith Gupta committee b. Tarkunde committee

c. Vohra committee d. Tanka committee

e. Answer not known

odlen BHgluselu amer Corgeosmen o45fHs G

a. @hIrS GUST GW b. sT&mGL G c. Gaumgm G
d. Liisr G e. alewL O fNwalevenso

Backward class commission constituted by Tamil Nadu Government is under
chairmanship of

a. Santhanam b. Kaka Kalekar c. Mandal

d. Sattanathan e. Answer not known

SOLs  SPFTed  Hwldsiu’ L UBuGSSIULGLIT  SuememmusHH ST  Hemevenld  CUTMILIenL
JBoeult

a. FhSTeID b. srar &Geve0sIT C. LDGWTL_6D

d. s Lprse e. alowL O MNuelsdamen
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120.  Match the following

A. Kaka kalelkar commission

B. First amendment

C. Second backward class commission
D. Indra sawhney vs Union of India case

QUT(HSHBIH:

A. srar HBe060HT SLEMEUUTUILD

B. wpaed FLLEHIBSHSD

C. @rewiLmeug LUBUGSSUIULGLAT SLenearuLd
D. @bam gapreil T @bHu Wl aIpsHE

A
a. 3
b. 3
C. 1
d. 3
e.

B
2
2
3
1

C

NN &~

allenL  Gxfluwailsoensv

D

4
1
4
4

1.1951
2.1979
3.1953
4.1992

1.1951
2.1979
3.1953
4.1992
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TEST XXX PREMODEL IV
(UNIT VIII, UNIT IX, MENTAL ABILITY, THIRUKURAL & GENERAL ENGLISH)

43.  Who founded a hostel, the Dravidian Home, at Triplicane (Madras) in July 1916?

a. Sir Pitti Theyagarayar b. T.M. Nair c. Dr. C. Natesan

d. Maraimalai Adigal e. Answer not known

FH(meueLellbCameniluled 2demev 1916 60 HymalLT @evevld el GLWIMED @h FHRIGL alBHHlenul
BpialweuT.

a. gir. Ul gwrsymuim b. 19.enb. BIWIT c. Dr. 8. pBLgemit

d. wemBwemey DigHe e. allewLOFflwaistensv

44.  Choose the correct statements:

1. On 20 November 1916 around 30 prominent non-Brahmin leaders including Dr. C.
Natesanar, Sir Pitti Thiyagarayar, T.M. Nair and Alamelu Mangai Thayarammal
came together to form the South Indian Liberation Federation (SILF).

2. In the meantime, at a meeting held in the Victoria Public Hall the Non-Brahmin
Manifesto was released in December 1916.

a.1,2 b. 1,2 wrong c. 1 wrong
d. 2 wrong e. Answer not known
51.  What was the major things in the self-Respect movement?
a. Rational b. Revolt c. Religion
d. Communism e. Answer not known
gwoflwumemg BQuissll Gammeumdeseier epwwll QUTHETE EHbHeHH
a. UGSHBMleY b. yyLd& C. B
d. swweign e. el Gz fuwalsvensy

53. In 1936, who got Dr. B.R. Ambedkar's Annihilation of caste translated into Tamil
immediately after it was written
a. Rajaji b. Thiru Vi.Ka c. Periyar
d. Subramaniyanar e. Answer not known
BR owGusastt swadw &1dh @iy (Annihilation of caste) etgnid BHrenev, SibHTEO
euailaubsa et 1936 o sfled GmHGLWITSHSHeT wimT?
a. gregmrey) b. Hm.al.a. c. GQurlwmi
d. aniiywenflwiesir e. alenL Gz fwealsvenso
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[STUDY EENTRE]
CHENNAI

60.  Which of the following scheme is with the objective of upgrading, strengthening and
maintenance of panchayat union and village panchayat roads?
a. Tamil Nadu Rural Road Improvement Scheme (TNRRIS)
b. Chief Minister Road Development Programme
c. Bharatmala Pariyojana
d. None of the above
e. Answer not known
BDHHETLaUBISIeL  THFHI LD, UehFTWHSH ULeliulel LoBmID SITD  LEhFTWLHSHI  FTen60HM6N
WeBamBmieugl, LeolILBHSIeuS wBpid ugTofitiums GBsCsmenTad GCamewiLgl?
a. sPETG eags gmemev Guwbum (g S (TNRRIS)
b. waevmwssT greney GUT (g &L LD
C. umggomeor L Guimegeott
d. GuBsemi eIGIaID Ee0em6v
e. allenL Qg flwaievensv

62.  Choose incorrect statements regarding Pradhan Mantri Gram Sadhak Yojana (PMGSY)
1. Scheme was launched in 2000 to provide all weather road access.
2. Initially PMGSY is 100% centrally sponsored
3. From 2015-16, Funding pattern has been revised to 60% central share and 40% state
share except Himalayan and northestern states.
a.1,2 b.1,3 c.2,3
d. None of these e. Answer not known

dug)w whAHf Sgmo gremevd FHLw (PMGSY) @fds Hauprer saBpismend SHemisls.
@g;@l_l_w gmmg;gj L(HeY  SHTVRISEHSHSD GBI  SemenilLF FTene0 eUFHlenwl
aupms 2000 b 6w CGHTLBISLILILL .

2. QaTLESHHH0 @HHL LD 100% wHHwW Ddear BEHusalwmsd CFulsoLBSHSILILL SI.

3. 2015-16 oub SLewiB (WH6L, SIFH LoBleuenJweny CFiwiul (G @wreoul WBHID L SHIPES
LOTH6VBIBET Sl BB  WIHevRIGN0 60% wWHHW s B BB 40% WIHe D&
BHFHWTed QFwedLGSHSILGHBSHI.

a.1,2 b.1,3 c.2,3

d. agleyfevensev e. el s Muwalevemnev

63. Emergency Ambulance Service, (108 helpline) is part of

a. TNHSP b. TNHSRP c.bothaand b
d. CMHIS e. Answer not known

SlougyHTev gl Czemeu (108 o gHallelent) 61H6 6(H DIMISLOTGLD?
a. TNHSP b. TNHSRP c. (a) wmmid (b)
d. CMHIS e. alaL s Muwialevemnev
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65.

66.

67.

82.

Tamil Nadu state Mental Health Authority was formedin

a. 1992 b. 1994 c. 1996 d. 1998 e. Answer not known
SODBTH LOTHI6V LDEIHL SLeweTld 6TIGUTSHI 2 (heurdhasliul L gl?

a. 1992 b. 1994 c. 1996 d. 1998 e. aleL s Muwialevemev

The district with more Gender inequality in Tamil Nadu is

a. Nilgiris b. Ariyalur c. Chennai

d. Sivagangai e. Answer not known

SOIDHTLIGET 61h% MU LD DIHSULF LTele Flodlerenoenld Osmenheengl?
a. peodifl b. emfweurit c. QFaene

d. Heusniens e. alenL_OgMwalsoenso

IMR and Higher order birth rate were indicators of

a. HDI b. MDPI c. GII

d. CDI e. Answer not known

Fa et alagpbd wBpLd o wit sl euflns asear GBluibseam@Lb.
a. HDI b. MDPI c. GII

d. CDI e. el Gz fuwialevemev

Match agencies that promote industrialization in state with their year of formation.
A B C D E

a. 1 2 3 4 5
b. 5 4 3 2 1
c. 5 4 3 1 2
d. 1 2 4 3 5

e. Answer not known

OHTH6OLWIOTESMET  2MHGHaISHGWD  (PHMD  BBID  DUBEDB 2 (HUTHHU  HLewTenL Ll

CUT(HSHIS
A. SIPCOT 1.1949
B. TANSIDCO 2.1965
C. TIDCO 3. 1965
D. TIIC 4.1970
E. TANSI 5.1971
A B C D E
a 1 2 3 4 5
b 5 4 3 2 1
C 5 4 3 1 2
d 1 2 4 3 5

e. allewL 0% flwalstensv
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85. Communal G.O. of Justice party was passed on

a. 16 July 1921 b. 16 September 1922 c. 15 August 1922
d. 26 January 1922 e. Answer not known

AUGLILITSH SITFTemmienL bHHsL d Guppiwu gerd

a. 16 ggremev 1921 b. 16 QslLibur 1922 C. 15 symevl 1922
d. 26 sgeweufl 1922 e. alenL Gz fweailsvensv

86. Why Periyar Quit Congress in 1925?

Congress was not able to address caste inequality practiced by its members.
Cheramadevi Gurukullam incident.

Non passing of resolution for reservation of Non-Brahmins in legislative council

all the above

. Answer not known

925860, gi&it GuUIflwT smREFFed QbbhaH CeueGuipsleriT?

STRSHTFe0, DHST 2 DBIIISITHeT OHTLIHSH SOLLIGSGHD STHILTGUTL ML 618)THD
(WPIQUIRT 606160

b. GayenonGsal @GHEH60, FlbLaUD

glLgomu - Cureis  Ursiglssier  Siemwliseiled  LIJTwentT — OeL60THTHEHHE Gl
RIHEH  UPBISLILIL @T6D6N6L

GoBEemIL.  SIMEISHSILD

allenL Ggfluualsdenso

an o

pogo

o

A

®

86. Consider the following statements and choose correct answer
Assertion (A): Periyar opposed nation & Nationalism
Reason (R): Patriotic feeling was misused by capitalist class.
a. Both (A) and (R) are true and R is correct explanation for A.
b. Both (A) and (R) are true and R is not correct explanation for A.
c. A is true, R is false
d. A is false, R is true
e. Answer not known
LevTeu(heueasTeuBenm  SLUIs
aBpl (A): QuiwnT Cxedbmswb, CaAWTHHMBUID eTHTHSHTT
sryewnid (R): Capsusd o awiTey (WHevmelbdHial UTHEHSTEO SHaUBTEL LULGTLGSSILIL L &I
a. A ppid R #f R eaeug A alBg sflwmer alendsid
b. A wppi R i R aeug A alBe sfwrer efendsioee
c. A gfl gemed R seuml
d. A sap gemed R &l
e. el OFflwealsdensv
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91. Where was first samathuvapuram established
a. Melakkotai, Madurai b. Thagattur, Nagapattinam
c. Kadambathur, Thiruvallur d. Malligaipatrri, Trichi
e. Answer not known
6IMIG (PHET(LPSHeU60 FIODHBIAILTID 2 (HeuTdhaLIuL L &7
a. GeudbBHML_6mL, LDZHINT b. &L BT, BTSILL I96ID
C. BLIDUSST, H(Heu6iTeerpiT d. wevedewaLiBs, &HEFH
e. allenL 05 flualsbenso

93. Consider the following
Assertion (A): E.V.R Periyar started self respect movement
Reason (R): Self Respect movement is aimed at achieving a society where Non-Brahmin
castes have equal human rights.
a. Both (A) and (R) are true and R is correct explanation for A.
b. Both (A) and (R) are true and R is not correct explanation for A.
c. Aistrue, R is false
d. A isfalse, R is true
e. Answer not known
LTedTeu(hHeueasToUBens  DLUIH
apm (A): w.Qeargr QuiiwnT swwiunemg BUssHmsd OBTL RIS 6T,
smgenid (R): swoflwmemns @uissd LIJToTe0THaTHEhSE Fwra Wwalldh o Manamern
CEBTWIL Q(H FPBHNSH DIMLaUMS CHTHsTsd OB Temi(helTendi.
a. A oppid R gfl R eaeug A elBg gfwmer alerdsid
b. A wppi R #f R aeug A alBe sfwurer elendsneen
c. A afl spemmed R sHeum
d. A sam geme R af
e. alemLOFflwalevensv

97.  Who found All India Depressed class association in 1928?

a. Iyothee Thasar b. Rettaimalai Srinivasan c¢. M.C. Rajah
d. Dharmambal e. Answer not known

192860 SImTHSH @HHU STDSHSLIULL alTHs FhSHmS BHnielluleuT wimr?

a. 9IBwrgHd HTaT b. &y L wewev Fealleuraest c. M.C. gyregn
d. smomibuimeit e. alenl_ O fuwalsbensy
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99. In Tamilnadu Gross Enrollment Ratio is ___ which is highest in country for Tertiary

education.

a. 36.9% b. 46.9% c. 56.9% d. 66.9% e. Answer not known
SOHETH  BHTLRCLCW  1We o wiflw  apaBTd Henew sevaluler OoTshs CFToHmawTs
b OBTemI(HeiTenDl.

a.36.9% b. 46.9% c. 56.9% d. 66.9% e. allenL Oz fwaisoenso

100.  First Bird Sanctuary established in Tamilnadu in 1977 is

a. Vettangudi b. Pulicat c. Vedanthangal

d. Kanjirankulam e. Answer not known

SODBTLIQET 1977 81b Suewi(h SIMDSSBLILL L (IPSH60 LIBENUS6NT STeITeOUID 61517
a. Geaul LmiGlg b. upGeaumar® C. GauLhHTmISH60

d. sehdlymi@entd e. alenL_OgMwalsoenso

101. Match the following

A. Presidential assent for 69% reservation 1. 1980

B. Submission of Mandal commission report 2.1994

C. 19% reservation for SC/ST in Tamil Nadu become effective 3.1916

D. Non Brahmin Manifesto 4. 1989
A B C D

a. 2 1 4 3

b. 3 2 1 4

C. 2 3 1 4

d 2 1 3 4

e. Answer not known

A.69% B @HIEE 9BE& GQUTFHSSHMET QUILIGHM 1. 1980

B. weiiLed @ onsms FwmilsHss 2.199%4

C. sibwpmiged SC/STag 19% BLasssd BoL(waBdHE abss 3. 1916

D. dgmoswriyeveon@HmiT oifldbend 4.1989
A B C D

a 2 1 4 3

b. 3 2 1 4

C. 2 3 1 4

d 2 1 3 4

e. allewL OFflwalsdensv
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102. Match the following

A. Bhavanisagar dam 1. Tiruppur

B. Amaravati dam 2. Erode

C. Sathanur dam 3. Tirunelveli

D. Manimuthar dam 4. Tiruvannamalai
A B C D

a 1 2 3 4

b. 4 3 2 1

c. 2 1 4 3

d 3 4 1 2

e. Answer not known

QUT(HSH SIS

A. uauTeNFTHT Sjememnt 1. Sl

B. siogmeud) oiement 2. #G@ym®

C. gn1H@T Sieneuwt 3. FmOmeLGeusd

D. wenfl(pdHanT Sienewor 4. &(HEU6ITEMITLOEN6V
A B C D

a. 1 2 3 4

b. 4 3 2 1

C 2 1 4 3

d. 3 4 1 2

e. allenL Qg flwailevensv

109. Match the following

Helpline Service

A. 104 1. Drop back service for infants

B. 108 2. Ambulance

C.102 3. Free access to health information
A B C

a 1 2 3

b 3 2 1

C 1 3 2

d 2 1 3

e. Answer not known

QUT(HSHBHIS

2 ol eleuw Bxemou

A. 104 1. fabsendarar CFamel

B. 108 2. I(HSHSIeN oaiTd)

C. 102 3. Bovaus HGITHIW HHEU6LBH6I
A B C

a 1 2 3

b 3 2 1

C 1 3 2

d 2 1 3
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e. allewL 0% flwalstensv

110. What are the dimensions taken to measure the Gender Inequality Index (GII):
a. Reproductive Health, Empowerment & Labour market
b. Literacy & knowledge, Reproductive Health & Labour market
c. Labour market, Employment & Political participation
d. Employment, Gender wage differentials & Empowerment.

e. Answer not known

uteder  swHGHauaEmL  GBUILmL  Senall  aIGHSILLL  UFIDTEIRISET,  &SLPSHEWIL euisle0
6Tem6u?

a. @eumes CITHEWD, DIHSMIL6eMNSHH0 LOBEBID CGHTHTNT FhHens.

b. sevalwpe wBpId opfe), BeNIOUGHSS UBITESAWID, CHTHEOTNTT FhHensd.

c. Gampeoreny &phems, Geuemeveuruiliy, SFdluled LIMIGCHBL

d. Geueweveuruiiy, umedes eargHur GeupLTHH6, SIFHSTIO6MGSH60

e. alemL Gaflwalsvenen

112.  Which of the following about Child Development Index is/are correct?

i Probability of surviving until age seven.

ii. Proportion of children malnourished in the age group of 12-23 months.

iii. Enrolment in primary to upper primary and upper primary to secondary
education

iv. Children never enrolled in school & Juvenile sex ratio.

a. i, ii, iii b. ii, iii, iv c. 1, iii, iv

d. i, i, iii, iv e. Answer not known

Uelieuheusioubpiled Gobend euenj&d GuBluilh sflwumerg eTeneu?

1. g euwg eueny o ulT UenpliugBamer eumuili]

ii. 12 — 23 0Te UUGHGGLULL 61’ L FFHSH GmBUTH6TeN & Wwhondseler alldlsib.

1ii. (WoHTmD  (LpFHe0 GoevBleney LOBMID Bed (PSHETENID (LPHe0 ETEWILMD Hlewew &Heval

ooy BFydbens.
iv. GWhmHH6T UsTeiluled GagmbmHsHeo wBmId FpTf umeller ailslgb
a. i, 1i, iii b. ii, iii, iv c. 1, 1ii, iv
d. i, ii, iii, iv e. alowL  GaMualedemev

113. The parameters of the Physical Quality Life Index is/are:
a. Standard of living b. Infant mortality rate
c. Life expectancy d. both b & ¢
e. Answer not known
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eruigmper @pBui GLewr (PQLI) @mluibser Llareaumeusieumnsied erene:
a. AUTPHEMBS SHILD b. Gubms BBy aldsd

C. earFFumyliy LU &TeuLd d. (b) wBpid (¢) Byewihid &)
e. alewL OFflwaisvensv

117.  The latest and 2"d Tamilnadu Human Development report was prepared by the State
Planning Commission, Tamilnadu Government in the year,

a. 2018 b. 2017 c. 2021 d. 2020 e. Answer not known

FUSHW WLBBID 26ugkH SWOIDHTH weld Gubum' B SPbems LD UeWIh  SLODHTH
SII& THeL FH L SHEGHauTed HUIMfaslILL L .

a. 2018 b. 2017 c. 2021 d. 2020 e. alewL. Gaflweailsdenso

118.  Which district is occupying the first rank in Multi-Dimensional poverty index (2017) in

Tamilnadu?

a. Chennai b. Kancheepuram ¢. Thiruvallur

d. Cuddalore e. Answer not known

slpasHHar Lo ufloren eupimod GBuiliged (2017) (wWPpFHeL B SHHO 2 6iTem  LOTEUL L LD
61&1?

a. QFaenen b. smehdyid C. H(HeU6ITETHT

d. sLeuny e. alowL  GaMuialenemed

121.  Which of the following statements about Vaikunda Swamigal is/are correct?

i. His original name Mudichudum Perumal was changed to Muthukutty by his
parents due to objection raised by the upper caste.

ii. He condemned the religious customs and campaigned against animal sacrifice.

iii.  In 1833, Vaikundar commenced his meditation at Swamithoppu for the abolition
of caste differences and social integration of the society.

iv.  Hisideas are collected into a text called Akila Thirattu.

a. i, ii, iii, iv b. i, i, iii c. 1, iii, iv

d.i iv only e. Answer not known

MAUGHWIL  Feumilsenenl LUBBlw LleTauheusteuBplied 61gh Ffluimeng)?

1. o wfj gndulernfler e&Hifliler STFewIoTS DT @u.m@umurr@n WPR&FGGBL  GLIHLOTET
SIHILGI Sleursl QUBGBIITED (PSHBIBGL I 61D LOTBBLILL L G.

ii. U] DS LIPSHBHAIDSBRIGMET HaNgdHdl, W(he UGG adymes LgFemgn Ceuism).

iii. 1833 oib WG meuGewiL, &TH CoupTGHenen SmehEH FpBHHeT  Feps
QRIS IBaETs SGauriCHTILNe0 HwnardHmsbd OHTL M 6.

1v. DTS HHSHHIB6T DIFVSHHTL(H 613 HIedled OFHTGHHSLILIL (BeTerT6.

a. i, i, iii, iv b. i, i, iii c. i, iii, iv

d.i,iv @b e. alenL  Gafuwealsvenso
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122.

123.

Which of the following facts are true?

L Tamil Nadu ranks first among the states in terms of factories with 17% share &
Individual workers 16% share of the country.

I1. Tamil Nadu has a highest Gross Enrollment ratio in Higher Education.

III. ~ Tamil Nadu is the 3d largest contributor to India’s GDP.

IV.  Tamil Nadu is placed 2nd in Health index as per the NITI AAYOG report.

a. II, IIL, IV
d. I, I, I, IV

b.I II
e. Answer not known

c. IL, IV

LeTau(heueateuBmled 6% o 6uTenio

L. Capdlw senaled OGomfBaTensvsst 17% wBBID OFHTHeogems  QHTfeomenyser 16 %
URInSS OaTeni(h SWOIDHTH (PHEILSHHe0 2 6lTengl.

II. 2 wiisevaluled Oorss BFTbma alhdHsled SHUIDBTEH (WHIL LD eudbEBEI.

.  @hdwurelar OCwrss o epm G o BusHuled SOPHEIG  apEmregk  Quflu
UmISETLILTETTTS 2 6iTeng).
IV. P& o6wrds opfsmsuiemly, SeTams GBuiliged SWOIDHTH STewLTad S S50

o eiTengl.
a. IL, 1T, IV
d. L I II1, IV

b. [ II
e. alemL OFfluaiedensv

c. I, IV

Consider the following

Assertion (A) : Multipurpose river valley projects are basically designed for the
development of irrigation for agriculture & Hydro power generation.

Reason (R) : Parampikulam - Aliyar project is the joint venture of Tamil Nadu and
Kerala states which connects waters from seven rivers.

a. Both (A) and (R) are true and (R) is the correct explanation of (A).

b. Both (A) and (R) are true but (R) is not the correct explanation of (A).

c. (A)is true but (R) is false
d. (A)is false but (R) is true
LevTeu(heueasTeuBenm  SLUIs
amml (A) LeLCHTHE [HFH UeTeNHSHTHE SHULES6NT Siglienluled aleusTuid BmIDd
Bflel o BuSHHSSTE HILILUTFRISHMmS GCDLGSHSHINSBSTS 6UIQaIMLDSSLILIL (HETET6T.
asryenrd(R ): ugbls@end - ouwmm HiLd g bpHeelear By Smeud@Glh SOWHTH
wBmID Csyen LOTHVSHH T Fnl (B (LPWBFWTEGLD.

e. Answer not known

a. (A) wpmpib (R) @rewipd af, Gwsud (R) eteug (A)-elBg gflwmer alendasib.

b. (A) wmmpp (R) @yewio &M, eyemed (R) eaiug (A)-albg sflwner elendasneoe.
c. (A afl, spemed (R) seum.

d. (A) seaum syemmed (R) &l e. alewL Ggfwaledenso
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124.  Arrange the following in chronological order:

L. Non-Brahmin manifesto.

II. Madras Non-Brahmin Association.

I1I. South Indian Liberation Federation.

IV.  Dravidian Home at Triplicane.

a. IL I IIL, IV b.II, IV, III, I c. IV, I, II, 1
d. IV, 11, 111, 1 e. Answer not known

Leteu(meueasteuBens  Smeveufleng ity  aufleng LB SHHa|LD:

L. LpToemIye0euTs  DInsldbemnd

II. OFetenedt LMD SI6060TEHTT FRIHLD

III. Ozaeibllu alBGsHme0 Fnl LenliL]

IV. fleNCxseiled o 6Tem FHyTaiL E6060LD.

a. IL I IIL, IV b.II, IV, III, I c. IV, I II, 1
d. IV, II, I, I e. alewL OFHflwalevensv

125.  Which of the following statements is/are incorrect?

a.
b.

C.

d.

e

a.

b.

C.

Transgender Welfare Board was constituted in 2008.

A state level Award for the Thirunangaiyar has been instituted from the year 2021.
The award will be felicitated on “Thirunangaiyar Day” which falls on 15t April of
every year.

A mobile app named “Moondram Paal” has been created & worked functioning
from 2018

Answer not known

Leiteu(hldD FnBmIBeled eTemer Heummerrg?

SH(HBHIMSBDB6T HeveuTiwid 2008 @60 2 (HEUTSHBLILILL .

SH(HEHIMBHEHEHBTH  OTHeL  Slenalleorenr  al(pgdl 2021 QD ewIB  (PHED
OBHTLmISLILIL (HeTengI.

@6UGeuT(H SLeWIBL  gLyed 1591b Cpd U  HHPRmBHET HaIHHed @hdH al[hal
QUIPMISLILIBLD.

“apasipmd  uUTed” (Moondram Paal) eei  Gomenued  Gauied o (heurdhsii’ (, 2018
(WPFHeL QFWEOLL S CHTL RIS WG.

allenL Gz flwealsvenev
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TEST XXXI PREMODEL V
(CURRENT AFFAIRS, MENTAL ABILITY, THIRUKURAL & GENERAL ENGLISH)

2. Valmiki Tiger Reserve is located in

a. Uttar Pradesh b. Bihar c. Uttarkhand
d. Jharkhand e. Answer not known

aumeLLBs LedldelT SMUILGLD 6ThIE 2 6iTeng)?

a. o SFHripBsab b. i C. 2 _SHHITHEWIL
d. eanfisewi e. alewL OFflwalsoensv

6. The incumbent Chief Scientist of World Health Organisation is
a. Gagandeep Kang b. Maria Van Karkhove
c. Soumya Swaminathan d. Norman Borlaug
e. Answer not known
2 & SGETHT Sl SHBOELTMSWL Hmevend SislaluIeoT6NT
a. BBHABL S b. wilwr euresr BxT@smel
C. QFemOwm SeUTLIBTSH6T d. mrimwesr Gumieors
e. alewL Gafwealsvenso

11.  The first Indian woman to win two Olympic Medals is

a.P.V. Sindhu b. Mirabai Chanu c. Mary Kom
d. Vinesh Phogat e. Answer not known

@rewih @ailblld LssaEmBmeT GeusdiB (PHev @bl 6o

a. .al. dhgl b. ymumus Fre c. Gufl Gasmb
d. elGaeg Gumesm e. alewL Oz fwalevenso

17.  Identify the correct statements
1. India clinched 19 medals at Tokyo Paralympics
2. Mariyappan Thangavelu has become the first Indian to win two paralympic gold

medals

3. Harvinder Singh has become India’s first ever archer to win a medal in the
Paralympics

a.1only b. 2 only c.1and 3 only

d. All of these e. Answer not known

Fllwnenr gnBpIsmend SHeniL e

1. GurasadBum umyrediblisadlsd @hHwT CQTHHD 19 LUSHSEHIBM6N CleUaIBS

2. @yeni®  umymeibille  HmIG  USHHBHRIGMET Qe (IpHed  BbAHuigmenmit  omfuiriest
SHMhIBECeaeyl
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[APP9 Lu]

STUDY CENTRE

CHENNAI
3. umgmedblisaled LUSHSHD Geusis @bHwmalsr (pHeo alevaldhemsd aiJT 6ams GLHemLemW
amTalbaT Fm CuBBTT
a. 1 wl @ b. 2 w' @b c. 1 w@Bmid 3 1w G
d. CussmpPuw oemasad e ol Gxflwalsdamnsv

33. Tamilnadu’s first multi-modal logistics park is to come up in,

a. Cheyyar b. Irungattukottai c. Hosur

d. Mappedu e. Answer not known

SODBTLIQET (LpHev LeL (pewB FTdHEG CUTEHGUTHSHI LLRIST 61MHIEG DIeNLOWIe6Teng?
a. Geuiurm b. @mmism HaGsTL e C. QPG

d. wiBu® e. alewL Gafuwelsvemso

39. National Institute of Ocean Technology is located in
a. Goa b. Kochi c. Chennai
d. Visakapattinam e. Answer not known
Bxpdlw sLevaTT GFHTHOHIL U HIBICUID 6THIE © 6ilengl?
a. Gameur b. Qsn&d C. QFeitener
d. elgmsiiul gebd e. alewl GafNwalaisdeansd

41. World’s largest solar park is located in

a. Bhadla b. Lonyang xia c. Kamudhi
d. Kurnool e. Answer not known

2 eudlern aLOUfw GGfw 685 LRsT SembdieTem G b

a. uleur b. eommwmAIAwWT C. B

d. sTamed e. allewL Oz Muwiealsdensv

43. Rank of Tamilnadu in the Multi dimensional Poverty Index (MPI) report by NITI Aayog
is,
a. Two b. One c. Four d. three d. answer not known
BgH w6wrsd GeueflullL uveoufiorent saupienwd GMBIUILiged SWOIPHTE CUBB SLLb
a. ®yewiG b, geiml C. BTG d. cpeim e. alowL O MNuealsvamen
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44. Consider the following
Assertion (A): India’s Total Fertility Rate has dropped to 2
Reason (R): there has been a 13% increase in the number of people using contraceptives
a. Both A and R are true and R is the correct explanation of A
b. Both A and R are true and R is not the correct explanation of A
c. Aistrue, R is false
d. A isfalse, Ris true
e. Answer not known
LelTeu(hHeuaieuBens  SLUIH
smim (A): @bHwraler GLTHs BHADIHH ASSD 2 26 GSGODHSIETES)
smpeoid  (R):  amssomL  (popsamenll  UWELGSHSID  wohaefer — eeamenlbmas  13%
2 _WIMHGIeT6NG
a. A oppib R @rewip af Goad R eaeiug A alBg gflwner alendson@Ld
b. A wppi R Syesio gfl Gweubd R eaug A alig Ffwmer alendsiosdsn
c. A afl R sauml
d. A sam R &
e. alemL Ogfwalsdenev
60. India is committed to become ‘carbon neutral” country through a net zero goal by
a. 2030 b. 2050 c. 2055 d. 2070 e. Answer not known
@HAWT  6hH OLIBHEHG6T SATUET HULL 60’ [HILTS Bejumedlu Seodmd DL WS
SHI_BLOILBeiTeng?
a. 2030 b. 2050 c. 2055 d. 2070 e. alewL G fwaisdemev
68.  Who won the Miss Universe award in 20217

a. Harnaaz Sandhu
d. Nadia Ferrira

b. Manushi Chillar
e. Answer not known

c. Dia Mirza

202194D Syewngent Werd wjefleuerd LILL LD Gleuestseui wimir?

a. QBTeITed FMhgl
d. mmowir ..QuenyyT

b. wreniag Feveor
e. alemL Oaflwaledenso

C. lgwim OTam
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STUDY CENTRE

76.  Which of the following statements is/are correct regarding the good governance
index?
1. Itisreleased on December 25 every year by NITI Aayog
2. Gujarat topped the overall ranking in 2021
a. 1 only b. 2 only c. both1 and 2
d. neither 1 nor 2 e. answer not known
BeveuT & GPUIG &HHS Lleeumd FnBmiseied 6igl/ elene Fhuwimeng?
1. 83 @aleumm SuewIGL FbuT 25 SEm B Cwrssred Geueflui LLGaEBE
2. 20219yb sLewi®h, OrsHs SHrauflenguled G2Mums (WPHeILLD LligdhsleTeng
a. 1 wl@w b. 2 w' @b c. 1 ppid 2 SyewiBd
d. 1 wBpb 2 @reviBweoey d. el Gsfwelsdened

78.  Which country has conducted a nuclear fusion experiment as a part of its “Artificial Sun’
project?
a. USA b. China c. Germany
d. Russia e. Answer not known

abd BTH FHoG QFumems Giwer SHLSHST @h UGSHWUTS DgidbHH Een6mniey
ufGFmHemement HL S uig?

a. o6wflébasr b. Fer C. Ggmipedt
d. gegwm e. alowL O MNuwelsdamed
92.  First male tennis player to win 21 grand slam titles
a. Rafael Nadal b. Roger Federer c. Novak Djokovic
d. Daniel e. Answer not known
21 Fgmewil. erveumd UL L midemen Geusiis (W&He0 6wt GLeteflerd affiT
a. 7..6Gued [BLTEL b. Gyregt QUi c. Gpmous CxrGsraldF

d. GLalluied Gt Geut_6i e. alew OaMwalsoensv

94. Which state topped the National water awards 2020 in best state category?

a. Uttar Pradesh b. Rajasthan c. Tamil Nadu

d. Gujarat e. answer not known

Gxdw mT almEseT 2020860 Fmbad wrHevd Lflaled (WHeUL b Llgshd LOmHe0D
a. o 5FHigéxsab b. @yregervgmest c. sUPETH

d. @:rms d. alew Oaxfuwalsvensv
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CHE I’\Ifl\i: 1
101. Tamilnadu’s fifth Tiger Reserve is
a. Anaimalai b. Mudumalai c. Sathyamangalam
d. Srivilliputhur - Megamalai e. answer not known
SOPBTLIQET WbSHTaUH LedH6lT STILSLD 61517
A, IENEITLDENGY b. waiwenev C. FHHUWILDHIGH60LD
d. nfelevedushamt - Gosoemev e. alewL Oz fuialsdensv
103. India’s first large scale furniture park is going to be set up in
a. Thiruvallur b. Thanjavur c¢. Thoothukudi
d. Coimbatore e. Answer not known
@bFHwmaler (PpHed Guflul Siemelleore LOFFFTIOTEIH6NT LLRIST 6HIG DIeDLOUIR|6TeNSI?
a. FHmeueineerpt b. sehameuT C. FNHBHGI9
d. GamuibydbamT e. alewL Oz fNwalevensv

105. Identify the incorrect statement/s
1. January 12 is declared as “World Tamil Diaspora Day’
2. CLAPP is a mobile app designed for police personnel to apply for leave
a.1lonly b. 2 only c. Both1and 2
d. Neither 1 nor 2 e. Answer not known
SHOUBTET FnBBIHN6TDH &6l 1S
1. mereufl 129110 CaHdl 2 evad HWID HeobLWwThGHTT SHerors Sipfeldbsliul (BHeTeng
2. sreuevTser alpuyse eleweniiiugsasrs  denmi  (CLAPP) esaibd  evasliGud
619U S LILIL (B6TT6N G
a. 1 wl @B b. 2 @G c. 1 wBpd 2 SyewiHb
d. 1 wBpb 2 ByesBLeven e. alowL O fNwalevenso

106. Whose statue is called as ‘Statue of Equality”?

a. Vallabhai Patel b. Ramanuja c. Adi Shankara
d. Ramalinga Adigal e. Answer not known

WL W Femev  ‘Flosdian Flenev’ 61SIBenLOSSLILIGSBSHI?

a. eueveuLITUl LIGL 60 b. ®ymoreney C. oL FRIB]T
d. ®ymoedkis SgHel e. alomL Oz fwalevenso

GFwed
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107. Youngest player to defeat the world No.1 chess player Magnus Carlson

a. Vaishali Rameshbabu b. R. Praggnandha c. Viswanathan Anand
d. Vidit Gujarathi e. Answer not known

2 eudlell (pHevBlemev FHITHIS aifgren Gdbered &MTe0Fme AIDHHW BeneTul aTFT
a. emeuagmed FGam LMy b. R. Uyseprenpsm C. allereUbTH&T SLTHE
d. alds @gynsHd e. alowL O MNuwealsdamen

109. Identify the correct statements
1. ISRO has successfully launched Earth Observation Satellite EOS - 04
2. It was launched on board PSLV - C51
3. This satellite will replace the RISAT-1 which was launched in 2012
a.land 2 b.1and 3 c.2and 3
d. all of these e. Answer not known
gflwmen gnBpISenend HemiLslsh
1. yell sevsranily swpamassCsremmal EOS-04 & @eadGym alewenilsd GFaidduleeng
2. @z U.eer.eev.al — 51 QFUBmBECHTET 616 HEN6MT (LPEOLDTS SIGDILILILILIL L GI
3. 2012860 elewiamis@ OFSHILLL - sl 1 QFWBmBECHTEHDHE —TBBIS @S

QaweoLIBLD.
a. 1 wBpw 2 b. 1 wBmw 3 C. 2 mmid 3
d. GuBsmpPlu SiemerHHID e. alew OzMweaisdenen

115. The first para-athlete to receive the Padma Bhushan in India

a. Devendra Jhajharia b. Mariappan Thangavelu c. Avani Lekhara
d. Bhavina Patel e. Answer not known

@bFHwmaled LSLLET al(hdH OUBB (LPHeO LTIT HL&6T it

a. CxGeoubdly egegmflwm b. wmilwiiuer FhisGaie C. olouel GeosmyT
d. urellemm LB e. alowL Oz fNuelsvensv

116. World’s youngest and fastest female swimmer to swim across Palk Strait

a. Kutraleeswaran b. Nithya Anand c. Bhakti Sharma
d. Jiya Rai e. Answer not known

ursd Hilewemenw &LbHSH 2 eudler s Aenenut Geuslomer BHFEFL T

a. GBBTeSer0aIeT b. Mswr SyerbhsH C. UGS aor

d. &Qwm gmul e. alowL O MNuelsdamen
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TEST XXXIII PREMODEL Vi
(INDLAN POLITY, GENERAL KNOWLEDGE I, APTITUDE AND MENTAL ABILITY)

7. What are conditions to form a political party.

a. Register with Election Commission of India.

b. Must have atleast 100 members.

c. should have a party constitution

d. All the above

e. Answer not known

Qb SFwed s o (HeuTdhd, BhHdHd GCeuewngoul SULTwDTeT aH ST Wmeneu?
BbHw BxHTHeL pememiibHHeo UHe| QFuiul Geuemr(BLd
GmphH ULFD 100 o miilenmse Smes GouewiBLd
LG FLLH LEG6T HHd Gouewi(BLd

GuoBanpiul  DIHETSHHILD

allenL  Ggflwalsvenev

o an o

8. Term of Legislative council of state and minimum age requirement is

a. 5 years and 25 years b. 6 years and 30 years  c. 5 years and 30 years

d. 6 year and 35 year e. Answer not known

wrHev FL L Guevenen o milileaniseilear LHalbaTeod OBBID Uil eUTLDL| 6T6bTenn?
a.5/ 25 syemipaei b. 6/30 syewiBseit c.5/30 syemiBasein

d. 6/35 eyemiGsein e. alowL O fNwelsdensv

9. Age of retirement of High court Judges is

a. 65 years b. 60 years c. 63 years

d. 62 years e. Answer not known

o Wit BFH B LHuFHsaier Lewl euie QUMD 6wl 6reten?

a. 65 oy ewIBH6i b. 60 syewiBse c. 63 SyemHE6l

d. 62 syewiBsel e. alewL GaMuielsvemsv

10. Correct statements are

1. NOTA option was introduced all over India in the seventeenth Loksabha elections
(2019)

2. It gives right to reject all candidates.

3. It gives right not to vote in elections secretly

4. NOTA option has symbol of crossed ballot paper or word NOTA in Bold.

5. Procedure for NOTA is mentioned in Rule 49-0 of Representation of people act 1950.

a.2 only b. 3 and 4 only c.1,2 and 3 only




d.1,2,3,4and 5 e. Answer not known

gilwmer FnBBISeN6T DLITUIS.

1. 17eug wasatemend BCaiTmelsd (2019) NOTA eagmib afigplivomeng @hSHWT (WQUSBESLD
SIBWPSLILGSHBUUL LS.

2. Bz smaiss Ceul uteniisenenub HITEfdb@Hn o Menwemul eIk B!

3. B3 CxTmpevmelled aurdsefldbamosd BmE@GD o Ml JHFUWLDTES IDHIGSH MBS
NOTA &b Gaialer @uuiLmergd Oumdsssd &Y (o) sishs NOTA  eaeub
AUTTHMHMWS  OBTEUTY(HEEHLD

5. wéHeT  LPHHHSHuF FULD  1950-60 algd 490 0 NOTA-a1  BewL (penmaelt

GSBIUIL LU (HelTermeot
a.2 (B b.3 wppio 4 c.1,2 wmmpb 3wl B
d. 1,2, 3,4, wipw 5 e. alwL O MNuealsdamen

11. Choose the correct statements.

1. VVPAT was made indispensible by Supreme Court Judgement in Subramanya
Swamy vs Election Commission of India case.

2. VVPAT was introduced all over country in sixteenth Lok Sabha elections (2014)

a.1only b. 2 only c. Both1and 2

d. None of the above e. Answer not known

gllwmer gmBpISenend S le

1. siiyweniw geumd T @hHul CaiTxhed pewewiul alpsded VVPAT syeig salias
WPRUWTSH DIDFTS 2 _FFHHIwes SHTled 2 mig OFuwiwliul (BeTengl.

2. 16 eugl dHenmeud Gaiideodel (2014) o VVPAT geig @hHwm  1pipeniod@id
SIBWPSLILGSHSULLL .

a. 1 @B b.2 L @G c. 1 wBpd 2 w G

d. Gupsewi egefevemev €. aleml G flweaisvensy

16.  Electoral college of President consists of
I. elected members of both houses of Parliament
II. elected members of state legislative assemblies and union territories.
III. nominated members of both houses of Parliament.
IV. Nominated members of state legislative assembles and union territories.
a. I and IlII only b.Iand II only c. I, II, III only
d. All the above e. Answer not known
GLWISHSH Hmevauenydh BGHTey OCFUILID 6UTEHST6NT (& (LDEUTEISHI
L. ungmrenpwes Bm Smeauuie BHTa| QFUIWIILLL o mInleimaer
II. wnBlev 1 Lwepd (10) wellwen LyCsamiseien Caitey OQFuwiulL o piileTae
III. umgmepweam Bm Smeuulst Huie 2 mIIIeITaerT
IV. wmdev gl LbaBd (10) weiwe LIpBshamisefer Buiwer o milileTael
a. [ wopmub III ol Gib b. I w@ed 11 o Gb c. I, II, III wr (b
d. omarshsid e. alowL O MNuelsdamen
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17.

Consider the following statements and choose correct option.
Assertion (A) : In 1989, President appointed 2 more election Commissioners making
Election commission of India as a 3 member body for first time
Reason (R) : 61t constitutional Amendment Act, 1988 reduced voting age from 21 to 18
years.
a. Both A and R are correct and R is correct explanation for A.
b. Both A and R are correct and R is not explanation for A
c. A is true, R is false
d. A is false, R is true
e. Answer not known
LeSIeU(bD FnBBIBMENS H(HHIS.
amBm (A) : 1989-60 @uwrssh  Hmeveugmed  Gueud 2 BaTHeD  LemeRIWITHENT
Bullésiul L Ser  peold hHW  BCHTHeOL SLeMERILITEISHI  (PHIT  (PHevTd 3 o mili et
O®BTemiL  SIeNLOLILIT6IS
aryenid (R): 6leugy opflweveniotig HmGHeHF FLLID 1988-61 LY auTEHHeMNSEGH0D ILSTOISI
21 V(pba 18 adh GHMBSHSLILLL G
a. (A) wppib (R) &M Guwepid (R) eteiiug sflwmen allendaom@LD
b. (A) wppio (R) s Guwauitd (R) erediugl silwmer alendaiosoen
c. (A) sfl (R) seaupreng
d. (A) seum, (R) sflwreng
e. alewL Gafwealsvenso

26. Match the following with correct options.

A. Provincial autonomy 1.1919

B. TN Panchayats Act 2.1935

C. 73rd and 74t Amendment 3.1992

D. Diarchy of Provinces 4.1994
A B C D

a. 1 3 2 4

b. 2 4 3 1

C. 3 1 4 2

d 4 2 1 3

e. Answer not known

QUT(HSHBHIH:

A. worsrewt W& 1.1919

B. 0BG UehFTUSSHIBET FL LD 2.1935

C. 736ugl (0) 74ougl HHHHLD 3.1992

D. wrstemsdled @yl entwim g 4.1994

A B C D

pn op
B W N R
N RO W
oW N
WN =
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e. alemL Gz flwailsvenso

28. Consider following statements:
a. Tamilnadu Government in 1969 appointed committee under PV Rajamannar to
examine centre state relations.
b. Tamil Nadu government in 1983 appointed Sarkaria commission to enquire centre
state relation.
Correct statement is /are
a.I only b. I only c. BothIand II
d. None of the above e. Answer not known
Uelteu(meussioupmlen gflwmenens CaibosBHH GHBIuiLayb
. slws ops, P.V. jrixmwsermm sHoeemwulsd @b G DdsHdH, 196960
D&HI LI
Lo%ﬁm TFHEHEG BenLuleoren o me uBpsl uflFevener CFUISS
II. slps opsH, 198360, wWHIHW LML  SPs  BevLuleorer 2 me]  UBH
allgmyemensaTd, FTHeTium shlagmen Hnelwg.
a.l w’@Gw b. II w’ @b c. ] wppio II
d. 8mar gaidevenev e. alowL O MNuelsvamen

32. Choose the correct statements regarding power of Rajya sabha.

I. Al Bills including money bill needs to be approved by Rajya Sabha.

II. Same power as Loksabha while passing constitutional Amendment Bills.

III. Impeach president, Judge of supreme court & high court

IV. Power to authorise the creation of All India services

V. Can authorise Loksabha (Parliament) to make a law on subject enumerated in state list.
a. I and IT only b.IL, III, IV and V c.I, IIand V only
d. All the above e. Answer not known
gTRQusuTalsl  SIFEMD  @GBHS,  SRHOSTBSSILL[BeTen  HBHaleddalsd  FilTeaims
BoMHOEBEHS! FTIRSMLD.

L. B  FOubSIULL BB SmaiHH  WCFTHTHEEHD  JTRWFUTANST  eLILIEH60
CUBGauETIBLD.
II. SIFwed EemwlIy FUL HmpSH hser uBpBlw wCFTHTHHN60 LDEHM6NDHE @ (HLILG

Gumed g0 SIFHFHMTID o 6wiH.
IIl. Guywurs smeveall, o FFHAGB LOBDBID 2 WIHASB HHUSEmN BHHGHD DIHSTTLD
IV.  9odo @bdwliuml o haurds DiHsmn o e
V. wmplev Ll gweded o siTemeuBmled FU L LOWMD, HHeTMaISESH DHSTID SiefdhaHe0
a.l wmpb II o’ @G b.IL 11, IV wBpid V c. L II wmpd V
d. Gopampu gmassEd e el Oxfueaisvemen
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34. Consider following statements and choose correct option.
Assertion (A): Supreme court succeeded Federal court established by Govt of India Act
1935 but has greater jurisdiction.
Reasoning (R) : Supreme court has replaced British privy council as highest court
of appeal.
a. Both A and R are correct and R is correct explanation for A
b. Both A and R are correct and R is not Correct explanation for A
c. A is true, R is false
d. A is false, R is true
e. Answer not known
SPHHEWIL. HH6UOH6T60 Flwmarmad CaHTboebHHSLD
ampm (A) : OuLged GCamTi(psh@l Lel, o FFhIBL, e DHD DIHSTIHISEHL 60T
92 (HEUTSHBLILILL Sl
smyenid (R): eymdlev engal seyaidlais@l UFeoms 2 FFHAEIBLD, 2 (heuTdhslILL L .
a. (A) opp (R) &f Gwsid (R), (A) &@ sflwmer alerdsd
b. (A) wppw (R) afl aemed (R), (A)de giiwrer alenssd 16060
c. (A) afl spemed (R) seum
d. (A) seup spemmeo (R) &
e. alewL GaMwalsdenso

43. Match following with correct options.

Article provisions

A. 169 1. Privileges of governor

B. 216 2. creation & abolition of State Legislative council

C. 226 3. Chief Justice of Highcourt is appointed by President

D. 361(1) 4. Writ Jurisdiction of High court
A B C D

a. 1 2 3 4

b. 2 3 4 1

C. 3 4 1 2

d. 4 1 2 3

e. Answer not known

CUITHSHHI:

FLLgaml QuIT(HeTLdbasLd

A.169 1. SLEHHTET SIFBTIHIBET

B. 216 2. FLLOSIB GH1) DIWDHH0 [ BH6evdHH60

C. 226 3. 2 WTBAHDSBSHAHST HmeLID BHULH GQUITHSH HENGVAUTTE HUILDEOTLD

D. 361(1) 4. o wipHoapsHer BAHICLTTenen GeualuiBd &F&TIID
A B C D

a 1 2 3 4

b. 2 3 4 1

C. 3 4 1 2

d. 4 1 2 3

e. alemL O flwailsvenso
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54.  Who appoints chief Election commissioner?
a. The Parliament b. The Governor  c. The president of India
d. The prime minister of India  e. Answer not known
HMeVMIDSH BHTHe0 remewtieny MO ILIeUT wWmT?
a. UMJT@hLO6IImBLD b. &y@mbBiT C. @hHWS  (GHIQUITESHFHEN606IT
d. @bawir Aysiom e. alewL Oz Muwalsdensv

56. Simplest form of plurality / majority electoral system is.
a. First Past the Post b. block vote c. Party block vote
d. Limited vote system  e. Answer not known
BaiT5H6e060 LmGSHIID / QUBDLTEEOLD (LpeBuile 6TelleDLOWITET 6UIEID 6TETLIG
a. (WFHedled MHemevenild &L b OFsogised (FPTP)
b. Qzmgd eurse (BV)
c. sl 4% QF1ed ansg (PBV)
d. euenTuBIGSIUL L auTdE@ (LPeds
e. alewL Gaflweaisdenso

60. Which of the following is incorrectly paired?

a. L.M. Singhvi committee - 1986
b. G.V.K Rao committee - 1985
c. Ashok Mehta committee - 1977
d. Balwant Rai Mehta committee - 1960
e. Answer not known

BIPHBMILUBBIGT HeUBTHL QUT[HHSWeTeNSH 61517

a. LM. dmel @uw - 1986

b. G.V.K. gmei @ - 1985

c. 98zms BwHHT G -1977

d. uebeupbEHITUI BLEHST GH(1D - 1960
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64. Which of following best denotes social Justice?

Special laws and privileges to underprivileged communities

Delegation of equal power to people

Struggle by weaker groups to establish equal society through equal opportunity

. System based on collective ownership emphasizing equality

Answer not known

DS BT UBMIGT Fepd HAHewW FBUUTHS GSWVISGD SHTyewnt 6157

Fevlenassenpm Liflaflenmese Fpliumer &L msamenud, (WeaTelflenodenenud eBLBEH3IH6e0
EBEPHES FIO HBT LTSHSSHSHIUSHMS QUIPEIEGSH60

L0 UTUILILS6T (L6OD FLOSHHIO! FPSHTWHNSH SieHL W LevaieioTer @G(pdser Cumgm®Bgeo
FSHBHIOHMSH ILBISHID Fol (h 2 Menenul BleneuBTL (HH6e0

allewL O Mweailedensv

oan oo

®C o0 T g0

66. Why was 26 January declared as Day of Mourning?

Justice party demanded Social reforms to be preceded before independence.
Dravida Kazhagam opposed formation of constituent assembly dominated by INC.
Dravida Kazhagam opposed declaration of Hindi as official language in 1965.

. On this day INC decided to celebrate Independence day in 1930 after the Lahore
resolution

oo

€. Answer not known

sareufl 26 LG 66l HIBIHOTH DIPSleNSBLILLL FHI?

a. pFHeasLAUnag  &HHATSHIHBG  (pelUTs  Fps  FIHBHSHIRBMeNd  OBTaniBeuy
(PHBULL G

b. @pFw BxAw sTRSFHGT GoeTHHHD GCHTEwIL  SFfwed BifewiuFenL DIEDOLILIMD
AHITAILT HWHLD THTHHHI.

C. 1965-60 @bd Svieuevsd OTPwns SPaldssiulLemgd HITAILT SRS AHTHHHI.

d. 1930, evmamiT FromensHBG LIBG BhHdHw B sTmSIerd EbbTeneT alBHemev HT6TTS
CameiLTL  (PIYLleuBHBHIH.

e. alewL Ggflwalsenso

70. The first sitting of Rajya Sabha was held on?

a. 9 December 1952 b. 13 December 1952 c. 19 May 1954
d. 13 May 1952 e. Answer not known

LOMH 60MIBEMEMEUUTNGIT (LPFH6D Fnl LD 6TIGUTSHI QST mISuIg?

a. 1952 w&wur 9 b. 1952 wauir 13 c. 1954 G 19
d. 1952 G 13 e. alowL O MNuealsvamen
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71. The Rights of transgender person Bill 2014 is introduced by?
a. Private member Bill, Trichy Shiva MP
b. Public bill, Trichy Shiva MP
c. Private Bill, Nagarajan MP Trichy
d. Public bill Trichy Nagarajan
e. Answer not known
PSIBTD Umededt BUTH6T o Memiosdell FU L (eileuenga] 2014 wimgmed SISl(pSLIUBSHSLILLL FI?
a. HlBUT FUL(paTeuemnyey, SHmFd deur MP
b. Qurgl gl Lwaeuemyey, HmFdH Heaur MP
C. HRIWNT FU L (peiteuenyey, HragTegest MP - #mad
d.Qurg wBsmTET — HHEFS HTHFTEH
e. alemL Gafwealsdenso

72.  Executive power exercised by the president directly or indirectly is enshrined in which

article?
a. Art. 51 b. Art. 52 c. Art. 53
d. Art. 54 e. Answer not known

b @ABlwsHHar 'l DHBMHMS GHQUIGEHSH HMeVA(HES SleMILSIL 66T  DjeUBens
GwrypwnsCeut, wenBwaLTEGT CFWeLIGSHSH eume CFUILD &L L dInml 61%?

a. L &amml 51 b. gL &amm 52 C. 5l L&Imm B3
d. s 1L damm 54 e. alwL Oz fNuialevensv

73.  Which act led to the abolition of Supreme Court and was considered a landmark in
evolution of High courts in India?
a. The Indian High Court Act 1861 b. The Indian High Court Act 1867
c. GOI, Act 1935 d. No such Acts
e. Answer not known
BHHWIL hHF FULID @hHU o FFpHwamhd uUlliysg S 6F Ogamg. Guwsb, Bz5Ge
@hFHwmaled o wibHoapriser CoHTaipeusBaTear  euFeommml HAply  WHés HabeuTssd

BHSLILGHBSI?
a. @hHu o wipHloeam F L 1861 b. @b o wisdwem FLib 1867
C. @hHw SaF FULb 1935 d. eFsLapd Bevenev

e. alemL Gaflwealedenso

74.  Which of the following is an alternative dispute mechanism in India?
a. Supreme court b. High court c. District court
d. Lok Adalats e. Answer not known
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81.

83.

93.

| APP€ L]

Leteu(meussieuBplied @b&HWTalled (h LOTB®I HEHITHI (LPHBEMLD 61517
a. 2 _FFhHAHIDeImBLD b. o_witgweimid C. TR L. SIOTe] [HAHIDGIBLD
d. Geurd SiHTeVS e. alewL Oz fuwealsdensv

Which of the following are the recommendations of punchi commission in 2007?
1. Governors to have fixed tenure
Problem affliated areas or districts in a state rather than the entire state can be
brought under emergency
3. Introduce changes in Art. 355, Art. 356
4. Governor to be removed by the Impeachment process.
a.only 1 b.1,2&4 c.1,2,3
d. All the above e. Answer not known
Ledteu(meuasieuBmled 2007-60 SiemwdbslLl L YatFd Gpaller ufibgienysamen CHTh0%HBEHS.
1. IHle SLEBBTH6T GBIULULL UFHalSEsETHHBEG Bwbldsliur GeauemrBLb.
2. wWIHeGFHe0  SlenTFFulled LTHSSUULL  wWTU LES6T  (9) UGHHaieo ol BHOLW.
OBHBEHY Hlemevenu! 6l&TeT(HEUFEUTLD.
3. 2 _miiy 355, o _miiy 356 syslweuBpied wrmm GFuiul CeuemiLb.
4. SIEHETHE6T LUHaIBHE SHToTerd epeod WG usaluled SmbaH BHoHsUuL Geuemi(HLd.
a.1 w @b b.1, 2 wmmpp 4 c.1,23
d. GuBseai. gmaidhsd e aloml Oxflueaisbemnen

N

Which article authorizes the president to make rules for more convenient transaction
of business of central government and among the ministries?

a. Art. 75 b. Art. 76 c. Art. 77

d. Art. 78 e. Answer not known

SIFmLILST 6hdh 2 mI' GRUISHHHmevalT LGB DIMOFFSSHHMBE Lenllenwl @HihH0H

QFud SIFsTID uBp GBILGSBSH?

a.2 miny 75 b. o _miny 76 c.e my 77

d.e _miny 78 e. el OzMuialsdemsv

On the death of the President, the Vice President succeeds him as President for
a. the unexpired term b. a maximum period of six months
c. a maximum period of one year d. not mentioned in the constitution

e. Answer not known

GwrsFssmevalfler  FISHGICUTSH  GQUWISHS  HEDMIHHEN6VAT 61616166  HT6VLD
GRWIFSBHMEVAT LGHal 6usH&EH60mD?

a. GRUISFHHMEVAT aIPBGHEToe0 WBHWD ol hF CFasB UHeldH HTEOD 6UM]T

b. &Fs U FoTE 6 LDIHEIGHENT
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C. 9IFHBULFW0OMTSH 1 euHLLD
d. oyflwevemioriied @il iu ailevenso
e. alewL Gafwealsdenso

100. In India, new All India Services can be created
a. Through an amendment in the Constitution
b. By the Union Government in Consultation with the UPSC
c. By the Parliament
d. By the President on the Advice of the Union Council of Ministers
e. Answer not known
UHW SimeisHg QhHUI ULsnimwl @eieuTsl 2 (heuTdse0mD?
a. SFMLULS FHHSHHF FLLSHIHT cWpevLd
b. gapw owasl umiwment GsTeuTenenisHSIL 6T S8eoTdl&Ha!
C. [BTLTEHLOGIIBSHEHE  CLPGULD
d. wHHW SELFFT®UIST UfpBEIET CUled GlQUITadHM6EVEUTTEV
e. alewL GaMwealsenso

101.  Which one of the following sets of Bills is presented to the Parliament along with the
Budget?
a. contingency Bill and Appropriation Bill
b. Finance Bill and Appropriation Bill
c. Finance Bill and Appropriation Bill
d. Direct Taxes and Indirect Taxes Bill
e. Answer not known
SpbHemiaBpled  6hEH FLL  (paTeUenTe]  BTLTEHOGIBSHH60 HHBemev  SinfldmaCuim®
Goimbg oiefldalLGang?
a. BHMeIS FLL (Lpeileuen]e] LOBEHILD RHISHS. B FLL (LP&TeUmI6
b. P& FlL eieuenyey
C. PF FlL (peeumye] WBBID RHIGSL(H FLL (LP6TeUMT6Y
d. Gerg s L (peeuenye) eufl wBBID wWedBIPE eufl FUL (eI
e. alemL O flwailsvenso

102.  The Lok Sabha is superior to the Rajya Sabha because
a. it is a directly elected house
b. the Council of Ministers is accountable to it
c. it controls the budget
d. of all the above reasons
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e. Answer not known

LD&HBH6TeME!  LOMHVRIGETEmaImUL Il 2 WiMhHH eJblereev,
a. wasemmet ChIguITes CaHTHOSBHSHSLILILL  DieHLOLIL]

b. somwFsTmal GH(p WHBTMaUBE S BUILIL LS.

C. &EeMMmal BFHHamev Sfidbmaeamul S GHULGSHHIB GBS
d. Bmeal SIMRIHHID

e. alemL O flwailsvenso

108.  Which of the following are matters on which a constitutional amendment is possible
only with the ratification of the legislatures of not less than one-half of the states?
1. Election of the President
2. Representation of the States in Parliament
3. Any of the changes in Lists in the 7th schedule.
4. Abolition of the Legislative Council of a State.
a.1,2and 3 b.1,2and 4 c.1,3and 4

d. All of these e. Answer not known

Spdeen  srilwmselsd 6bhsH SPFwevenoli] HHhHEmseT CoBesTereniuGL  CUITIS
wrpevmisefler LygHngdselar @lisHeoser @baHul wrpeomseile LTS wTbHleomiseaien eLILgHe0
CumiLL Geuewr(BLD.

1. @wras Hameveufer CsiTgev

2. UTPTEHLOGIIBSHE6L  LOMH 6omISEHESTe LT HHESHaaID

2. wrpevmiseflel(hheHl CFTEIOLILBLD By LUTTTEBHLOGIBSS 60 GoBblsTememiiL
3. Tougl Sl Leuenewt eauflenguied wormpd GComosTetemiLGLEUTS

4. @ LTHevdSHler Gsvensl HemevHSLILIHLOGLITSH.

a.1, 2 wpmid 3 b. 1, 2 wBpd 4 c. 1, 3 wBmib 4

d. Bmear SiemengHID e. alewL OFflwalevensv

111.  The concept of Public Interest Litigation originated in

a. the United Kingdom  b. Australia c. the United States

d. Canada e. Answer not known

QUTHl [HEV GUPHE 6IIB DIDFID 6IHS BTLIQED 2 (HEUTEIHI.

a. LM Lest b. eegGreduim C. 9I6wids MmebHw BTH
d. semm e. alewL Oafuialsdensv

112.  The Dinesh Goswami Committee recommended

the constitution of state level election commission

list system of election to the Lok Sabha

governmental funding of parliamentary election

a ban on the candidature of independent candidates in the parliamentary elections

on oo
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e. Answer not known

FHBeurerd Bamerveumdl @paienr Lfbgieny

Hev Slenalled BHTHeL QLEmemTUID 2 (HeUTSHBLILIBZH60

BeursguralBg eauflnas dysors CHiTHe0

UMITEBLOGIBS CHTHNSHTS DIIs HFH RHIHDHH

urgmepeas CxHTHeded FBwFma Geul LmeTHeT HBUMS SHHLULISBEHTET E,6M600T.
allewL  Oxfweailedensv

o oo o

114. The Parliament can make any law for the whole or any part of India for implementing
international treaties
a. with the consent of all the state
b. with the consent of the majority of states
c. with the consent of the states concerned
d. without the consent of any state
e. Answer not known
UMJT@HLOGIBD UGTIRIT. (B 2 L aiLigdHmeenu] 6bhd UGHUWIID 6FwWeLBGSSHIMNSBETS DIDTHA!,
FLLEHDSILD SUBB pguiid
a. 6166V  LOMHleVMIGEMEI  QLILISHEVIL 65T
b. QupbLITETEDIOWITET  LOMHleVRIGB6TNET QUILIGH6D CLIBBOL 65T
C. FUBSULL L LoTHlevEIS66 @LIL|SH6e0 GLBBeL 6o
d. ebm oMHevmIBeMET @UILIHEL GLIBTIDGD BHlenBBaumBBevTID
e. alewL G fwailsdenso
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